STEPHEN UPCHURCH XID-13984

<u>Commentary:</u> Stephen Upchurch was born about 1806 in Franklin County, NC and died after 1870 in New Light Township, Wake County, NC. Stephen was the son of Jubal Upchurch I, head of Upchurch clan # 6.

Stephen's first marriage was to Rebecca Chamblee (b abt 1800) in Franklin County in 1828. A second marriage to Ann Medlin took place in 1841 in Wake Co., NC. It appears there were five children from the first marriage – Benjamin, John (Jack), Calvin, Lucinda, and Charlotte. Of these five it is our belief that three, including Benjamin relocated to Cumberland (now Hartnett) Co., NC prior to their father's second marriage in 1841. A presumption is that Rebecca died after the birth of her fifth child. Much has been learned about Benjamin, but less about his four siblings.

After Stephen married in 1841, he moved to northern Wake Count, NC and resided in Barton's Creek and New Light Townships. Ann and he had children Rebecca and Geneva whose lives we continue to research. It appears Stephen moved to Wake because of the employment opportunities provided by the factory that had been established at the Falls of the Neuse River.

The Biofile of Stephen Upchurch offers numerous linkages to key families in Wake and Franklin counties which deserve more research.

10 Jan 2018

Acknowledgements: This Biofile was transcribed by UAFA volunteer, Hope Franklin.

- (1) Per Attachment #27 West Letter 18 May 1975 Extract Will Franklin Co, NC Calvin Upchurch in Jun 1844 will lists his brothers as Littleberry, John, and Stephen. See Calvin for details.
- (2) Per Attachment #26 West Letter 18 May 1975 Grantor Franklin Co, NC
 - A. "Stephen Upchurch 1833 to John Bell Book 26 Page 514"
 - B. "1833 **Stephen Upchurch** map and survey Book 26 Page 515"
 - C. "1834 **Stephen Upchurch** to R. Chamblee Book 27 Page 27"
- (3) 1830 NC census lists 1 **Stephen Upchurch** he of Franklin Co, Dunn's District
- (4) 1840 NC Census lists O Stephen Upchurch
- (5) See Page 28 of 2 Feb 1978 letter Elva E. Burkhalter to RPU
 - A. Book "B" 1840-1844 Devisor and Devisee lists of wills Franklin Co, NC shows Calvin 1844 (M-25) naming Charlotte (sister), Agnes (wife), Littleberry (brother), John (brother), and Stephen (brother) plus Charlotte (mother)

- (6) Per Attachment #28 West Letter 18 May 1975 Franklin Co, NC Marriage Bonds "Stephen Upchurch married Rebecca Chambly (Chamblee) 20 Jul 1828 Bondsman and Witness = Wm Carter and S. Patterson"
- (7) Census Extracted by RPU Franklin Co, NC

1830 Stephen Upchurch

Borr

Male <5 years - 1 - 1825-1830 (Benjamin Upchurch) born about 1829 Slaves 1 female <10 free colored 2M 10-24

5-10 years - 1 - 1820-1825

10-15 years - 1 - 1815-1820

15-20 years - 1 - 1810-1815

20-30 years - 1 - 1800-1810

Not children of Stephen & Rebecca as they married in 1828 Relatives of S OR R?? RPU

20-30 years – 1 – 1800-1810 [**Stephen Upchurch** RPU] born about 1805

Females 20-30 years - 1 - 1800-1810 [Rebecca Ann Chamblee RPU] born about

1803

1840 - No Stephen found

- (8) See will file for will of Calvin Upchurch written 23 Sep 1842 in Franklin Co NC in which he names his brother **Stephen Upchurch**
- (9) See 1870 Census Wake Co, NC Barton's Creek Township

Stephen Upchurch age 55 [should be 65 RPU] married, farmer – canno R or W – born in NC

In his house:

[Geneva Upchurch RPU] Genoea Upchurch age 25, female, keeping house [wife or

daughter? RPU]

Bryant Upchurch age 17, male, farm laborer

[Rebecca Upchurch RPU] Rebeca age 10, female

William Upchurch age 1, male [son of Geneva Upchurch

RPU]

[Note: 1860 census on hand for Wake Co is incomplete but so far contains no **Stephen Upchurch**. The 1880 Wake Co, NC census has **Stephen Upchurch** plus several of the above names on it and some of the dates are in order relative to one another. However there is not a 10 years difference to account for 1870 vs 1880 census. RPU]

(10) See 1880 census Wake Co, NC – New Light Township

[Stephen Upchurch RPU] Steaven [Stephen? RPU] Upchurch, white, male, age 70 [should be

75 RPU], widowed or divorced, farmer, cannot read or write, born

in NC as was mother and father

In home:

Geneva Upchurch RPU] Gesseva [? RPU] Upchurch, white, female, age 30, daughter,

keeping house, born in NC as was mother and father

William Upchurch, white, male, age 12, son John H. Upchurch, white male, age 1, son

(11) See 1860 census Wake Co, NC – Milburnie PO

Stephen Upchurch, age 54, male, farm laborer

Ann Upchurch, 33, female [Ann Medlin RPU]

Ann Upchurch, 15, female [Geneva Ann Upchurch RPU]

Joseph Upchurch, 11, male [Joseph Henry Upchurch RPU]

Sallie Upchurch, 9, female

Bryant Upchurch, 7, male

Rebecca Upchurch, 1, female

Lucinda Upchurch 23, female

(12) See Franklin Co, NC census – extracted by RPU

1850 census

Stephen Upchurch, 25, male, farmer [25 in one extraction; 45 in two others; 45 is correct. RPU]

Ann Upchurch, 23, female [Ann Medlin RPU]

Geneva Upchurch, 6, female

Joseph Upchurch, 4, female [female? HB 20 Nov 2017]

1840 census – No **Stephen Upchurch** found

1860 – No census available

1870 – No **Stephen Upchurch** found

- (13) Per Attachment #34 West Letter 18 May 1975 Wake Co, NC Marriage Records "Stephen Upchurch married Ann Medlin witness Ruffin R. Massey and W. A. Williams"
- (14) See Marriage Bonds Wake Co, NC with 31 Oct 1977 letter Mrs. L. W. Priest [? HB 20 Nov 2017] to RPU

"Stephen Upchurch married Ann Medlin; date of bond = 16 Mar 1841

Bondsman = Ruffin R. Massey; Witness = A. Williams"

(15) Franklin Co, NC Marriages

Hardy Floyd to Willy Taborn, Bond 27 Jul 1826

Bondsman/Witness – **Stephen Upchurch**, S. Patterson

- See letter 3 Feb 1996 Roscoe L. Strickland to RPU
 Stephen Upchurch born about 1806 (Franklin Co, NC) married Rebecca Chamblee born about 1808 (NC)
- (17) Franklin Co, NC Will Books I, J Bradley page 90

575-(252) Dower to Mrs. Ann Dunn. She was the widow of William Dunn deceased. Leroy Mitchell county surveyor. 1313 acres in 3 tracts: Home tract -601% acres; Arthur Williams tract -529% acres; Hodge tract 180% acres. Dower was 463% acres. 1 Jun 1833. Jurors:

Jeremiah OdumL. JonesNathan PearceEveritt PearceJerry [? RPU] TantDempsey ... [? RPU]Whit PearceEdwin PerryThos. Y. WrightLevin PerryStephen UpchurchJordan C. WilliamsPlat shown. Land joining Big Crooked Creek, Little Crooked Creek, Tarborough Road,

Jno. Griffin, William Cheeves, Mill Branch. June Court 1833

(18) Franklin Co, NC – Will Book H – Bradley page 32 210-(171) Account for heirs of John Williams deceased by Alfred Williams guardian. 1826-27. Names mentioned:

G. Glenn P. C. Person Henry Williams
Hardy W. Tharp (former guardian RPU)
James Baker Basdil Thomas William Upchurch
William Carter Loftis Pippin

Henry Williams
Williams

Stephen Upchurch
William Roles

Heirs: Lucy L., Thomas, Rebecca, William H., John R. Williams Slaves named:

Jerry Green Mary Sceney Simon Boen Sam Surry Celia Phillis Jane Shade

March Court 1827

- (19) See Genform output Biofile of Charles John Peterson, Jr Entry 18 Nov 1999 Items 90, 125
 - 90 Re **Stephen Upchurch**, son of Jubal Patricia L. Morgan 4 Apr 1999
 - 125 Re Upchurch, Abbie Vie born 1865 in KY Patricia Morgan 7 Apr 1999

Cross List: **Stephen Upchurch**

Jubal Upchurch Abbie Vieu

Patricia L.; Morgan

(20)Franklin Co, NC Will Book I, J – Bradley page 28

505-(192) Account for estate Jamima Pace deceased by Hardy W. Tharp agent for Wm.

T. Hollingsworth. 1825-31. Names mentioned:

S. Patterson	Stephen Upchurch	Wm. Dunn	William Harrison		
J. Gates & Son	Sampson Strickland	W. H. Haywood	Wm. Medlin		
Nancy Pace	Asa Higgs	Robt. Moye	Nat. Dunn		
S. D. Bridges	William Lewis	Nancy Medlin	Arthur Williams		
Kinchen Alford	Mackey Pace	Patty Pace	Isaac D [? RPU]		
Littleberry Upchurch					

Examined by James Baker, Jr., Simon [? RPU] Williams, Leon [? RPU] Perry. June **Court 1832**

- See page 16 download in letter 7 March 2000 Flora Pauline Upchurch to RPU. **(21)**
 - 23. Charlotte⁶ Pearce (Stephen⁵, Nathan⁴, Nathan³, Phillip², George¹) was born about 1775. She married Jubal Upchurch, son of Richard Upchurch. He was born between 1775-1777¹³, and died about 1836. 13

Children of Charlotte Pearce and Jubal Upchurch are:

- Little Berry 7 Upchurch, born about 1797, Franklin Co, NC
- Calvin Upchurch, born between 1800-1810, Franklin Co, NC ii.
- John Upchurch, born about 1803 iii.
- Stephen Upchurch, born about 1805, Franklin Co, NC iv.
- Frances Upchurch, born about 1809 V.
- Charlotte Upchurch, born about 1813, vi. married John Sanders, 11 June 1833, Franklin Co, NC
- I. Nathan Pearce I, born 9 July 1735
 - Stephen Pearce 1 of 4 brothers A.
 - Charlotte Pearce, married () 1. Jubal Upchurch, head of Upchurch Clan No. 6
- From email 8 Sep 2009 Donna Maynard to RPU (22)
 - I. Jubal Upchurch I, Head of Clan
 - A. **Stephen Upchurch**
 - Geneva Ann Upchurch
 - John Calvin Upchurch "Papa John" married () Kenza Ethel Hicks "Grandma Kate
 - i. Mary Doris Upchurch
 - Roy Leon Lyman married () Donna (I)Maynard

Roy and I met in high school. We were married one year after graduating (1962) and he went on to college at NC State. His mother's name was Mary Doris Upchurch Lynam and his grandmother (Grandma Kate) was Keniza Ethel Hicks Upchurch married to John Calvin Upchurch. Papa John's other was Geneva Upchurch. I don't think she was married and the baby boy John took on his grandfather's name (Stehpen) [sic HB 20 Nov 2017]

Upchurch who lived in the New Light District of Wake County (at the Wake/Franklin County border). We have heard tales of what happened but know [sic HB 20 Nov 2017] one knows for sure and at this point it does not matter.

(23)Franklin Co, NC – Will Book K – Bradley pages 41, 42

184-(115) Inventory and sale of the property of James Heartsfield deceased 23 Dec 1836. Buyers:

Benjamin Baker	Jas Baker	William Baker	Saml J. Brodie
Aaron Browning	Wm S. Cheeves	Brian Cooly	Drury Denton
James Galloway	Wm O. Green	Wesley Harris	Andrew Heatsfield
Nancy Heartsfield	Montford Horton	Robert Jeffreys	William Jeffreys
Henderson Leigh	Nancy Pate	Benjamin Pearce	John Pearce
Nathan Pearce	Thomas Pearce	Bennett erry	Fredk Reed
Solomon Richards	William Richards	Nat R. Tunstall	Burkley Upchurch
John Upchurch	Stephen Upchurch	Simon Williams	Thos Y. Wright
Francis Young	Wright Young	•	

Francis Young Wright Young

Negroes belonging to the estate of James Heartsfield deceased:

man Henry man Kin girl Julia girl Roena

girl ...? [RPU]

A list of notes belonging to the estate of James Heartsfield deceased. Named:

Jno P. Cook Jacob H. Cooley Burkley Freeman Duncan Graham Wesley Harris Mirick Horton Jno C. Jones Wm O. Green Maclin **Burkley Perry** A. Lancaster A. Perry Montford Pippen Jerry Rhodes Bun Strickland Jas Wiggins

Jones & Reeves (Alabama) F. McGee (Alabama) Roles & Reeves (Alabama) F. P. Strothers (Alabama)

Signed by Wesley Heartsfield administrator

March Court 1837

(24) Franklin Co, NC Will Book I, J – Bradley pages 84, 85, 86

541-(224) Wm. Dunn deceased inventory. Included were negro men Isaac and David a blacksmith. 1 item was at Arthur Williams.

[Note: This record includes a large number of names in three categories. The Upchurch names included are shown below. RPU]

#1 Notes and accounts at home

Burkley Upchurch Littleberry Upchurch Kearney Upchurch Larkin Upchurch **Stephen Upchurch** Calvin Upchurch

#2 Shop accounts in Louisburg – No Upchurches

#3 Sale 4 Jan 1833 for Wm. Dunn estate buyers

Littleberry Upchurch

March Court 1833

(25) Franklin Co, NC Will Book K – Bradley pages 8-12

31-(14) Judgments, notes, and accounts due the estate of William Harrison, deceased. Notes dated 1812-1834. Many names listed including Upchurches:

Britton Upchurch

Jubal Upchurch

Buckner Upchurch

Benjamin Upchurch

Dec Court 1834

34-(18) Rent of lands and hire of negroes belonging to the estate of William Harrison deceased for 1831

Jubal Upchurch rented the Upchurch Place

Dec Court 1834

35-(19) Account of William Harrison estate deceased 1829-1834. Many names.

Upchurch names:

Calvin Upchurch Kearney Upchurch Frances Upchurch
Larkin Upchurch Berry Upchurch James Upchurch
Nancy Upchurch Jubal Upchurch Stephen Upchurch

Buckley Upchurch

(26) Item in letter 14 Mar 1984 Eleanor Grace Williamson to RPU [In search for information on 1803 Upchurch Carpenter name change. RPU]

Franklin Co, NC Tax Records

1828 Tax List **Stephen Upchurch** 0 A1 WP, 1 BP 1829 Tax List Stephen Upchurch 1 WP, 0 BP 0 A1833 Taylors District Stephen Upchurch 310 A 1 WP, 0 BP 21 Jul 1834 Taken at Calvin Upchurch's **Stephen Upchurch** 1 WP, 0 BP 0A1836 Jeffrey's District **Stephen Upchurch**

(27) Franklin Co, NC – Will Book K – Bradley pages 36-38

156(100 Account 1832-1836 for William Dunn deceased by Hardy W. Tharp, administrator. Many people names including the following Upchurches:

Berkley Upchurch Calvin Upchurch Kearney Upchurch Larkin Upchurch Littleberry Upchurch Stephen Upchurch

Audited by Simon Williams, Jas Baker, Jr, Nat R. Tunstall

Sep Court 1836

- (28) From email 8 Aug 2010 Gwen NMN Stevens to RPU and from RPU Records: Re the Rochter Portland Chamblee who wrote a Chamblee history in 1891 (vs 1898)
 - I. Robert Chamblee of Little River Township, Wake Co, NC
 - A. John Chamblee
 - 1. —— Chamblee
 - a. Rochter Portland Chamblee
 - 2. Sidney Columbus Chamblee grandfather of Douglas Scales Chamblee
 - 3. James B. Chamblee born about 1762 (NC)
 - B. James B. Chamblee born about 1762 (NC)
 - 1. Rebecca Chamblee born about 1808 (NC) married
 - () **Stephen Upchurch** son of Jubal Upchurch I
 - a. Benjamin Upchurch born about 1829 ancestor of Gwen NMN Stevens
- (29) See page 30 download in letter 7 Mar 2000 Flora Pauline Upchurch to RPU
 - 55. Stephen⁷ Upchurch (Charlotte⁶ Pearce, Stephan⁵, Nathan⁴, Phillip², George¹) was born about 1805 in Franklin Co, NC. He married (1) Rebecca Ann Chamblee 20 July 1828 in Franklin Co, NC. He married (2) Ann Medlin 1841 in Wake Co, NC.
 - Children of **Stephen Upchurch** and Rebecca Chamblee are:
 - i. Geneva⁸ Upchurch born about 1844
 - ii. Joseph Upchurch born about 1846

Child of **Stephen Upchurch** and Ann Medlin is:

- iii. Bryant⁸ Upchurch
- I. Nathan Pearce I born 9 Jul 1735
 - A. Stephen Pearce, 1 of 4 brothers
 - 1. Charlotte Pearce married () Jubal Upchurch I Head of Clan
 - a. **Stephen Upchurch**
- (30) Extract of marriage record for John Calvin Upchurch I and Katie Hicks. See his Biofile for full copy.

Marriage performed 25 May 1904 at Wake Forest, Wake Co, NC by S. W. Bennett a Baptist minister

R. W. Day applied for the license; Williams Wm H. Penney

John Upchurch [John Calvin Upchurch I RPU] 22 living in Wake Forest, NC

Son of **Stephen Upchurch** and Geneva Upchurch, both father and mother living

Note – There is a biological possibility that <u>Stephen Upchurch</u> could be the father of John Calvin Upchurch I but all other records show <u>Stephen Upchurch</u> as the grandfather of John Calvin Upchurch I - RPU

Katie Hicks 18 of Wake Forest, NC [Keniza Ethel Hicks RPU]

daughter of B. T. Hicks and Eliza Hicks – father = living; mother = deceased of Wake Forest, NC

Witnesses = R. L. Siemon; Arch Leonard; C. Williams

(31) Franklin Co NC Wills – Bradley volume 1 entry 355

355. Calvin Upchurch 23 Sep 1842 (no probate date) (book M page 25)

To my wife Agnass – 1253 acres where I now live, 510 acres where John Upchurch now lives, 28½ acres which is a part of the Frazure tract I bought from Elic Young, 5 acres where Robin Jones is living; negro men Charles, Abram, and Marymon, boy Theodore, girl Mariah, woman Candiss and her five children Peyton, Sealy, Calvin, Mary, and Guston; all my growing crop, livestock, etc.; all during her life and at her death then to the heirs of my friend Wright Young. To my sister Charlott Saunders wife of John Saunders – \$1. To my brother Littlebury – \$1. To my brother John – \$1 To my brother Stephen – \$1. To my mother Charlotte Upchurch – \$1.

Witnesses: Edmd G. Brodie, M. N. Harrison, M. W. Jones Calvin Upchurch Wright Young

John Upchurch Elic Young

Robin Jones John Saunders = John Sanders

Will File Little Berry Upchurch Edmond G. Brodie Stephen Upchurch

M. N. Harrison Charlotte Saunders = nee Charlotte Upchurch

M. W. Jones

Agnass Upchurch = nee Agnes Young Charlotte Upchurch = nee Charlotte Pearce

(32) Upchurch and related tax listings – Franklin Co, NC 1798-1864 – to RPU from Carla Jones 29 Oct 2006

	Date	District	Stephen Up	<u>church</u>
	1820-1829	Captain Bridges	1 WP 1	BP
	1826	Captain Stone	1 WP	
	1827			
	1828	Captain Bridgers	1 WP 1	BP
[1829? RPU]	1828	Captain Dunn	1 WP 1	BP
	1830	Captain Dunn	1 WP	
	1831	Captain Dunn	1 WP	
	1832	Captain Dunn	464A8	918 1 WP
	1833	Captain R. Taylor	300A 6	00 1 WP
	1834	Captain Dunn	1 WP	
[1853? RPU]	1834	Captain Calvin Upchurch	1 WP	
	1836	Captain Jeffrey	1 WP	

<u>(33)</u>	NC Marriages – 5 Sep 2005			
	Mary Upchurch	Odom Barns	3 Feb 1806	Wake
	Mary Upchurch	Odam Bunn	5 Feb 1806	Wake
	Whiting Upchurch	Elizabeth Goodwin	3 Jan 1811	Wake
	Mackey Upchurch	Edmund Cole	9 Aug 1816	Wake
	Gilbert Upchurch	Elizabeth Upchurch	20 Mar 1819	Wake
	Murray Upchurch	Nancy Scott	23 Aug 1820	Wake
	Hubbard Upchurch	Esther Bird	24 Oct 1822	Wake
	Frances Upchurch	Blake Baker	18 Nov 1829	Wake
	John Upchurch	Angelina G. Green	29 May 1830	Wake
	Kerney Upchurch	Emila Perry	22 Nov 1830	Wake
	Sims Upchurch	Abigail Olive	11 Dec 1832	Wake
	Acriel Upchurch	Mary Olive	30 Mar 1833	Wake
	Quilla Upchurch	Nathaniel Mitchell	2 Dec 1833	Wake
	Abel Upchurch	Nancy Sorrell	27 Nov 1839	Wake
	Eliza Upchurch	William Beddingfield	2 Dec 1839	Wake
	William C. Upchurch	Adline Royster	15 Dec 1840	Wake
	Stephen Upchurch	Ann Medlin	16 Mar 1841	Wake
	Gilbert Upchurch	Margaret Bird	23 Sep 1842	Wake
	Bartley Upchurch	Jane Whitaker	27 Dec 1842	Wake
	Clargy Upchurch	William Wilson	24 Feb 1843	Wake
	Betsey Upchurch	Haywood Laurence	2 Dec 1844	Wake
	Nancy Upchurch	William Hobby	19 Dec 1845	Wake
	Clargy Ann Upchurch	Wesley M. Odaniel	11 Mar 1846	Wake
	Candis Upchurch	John Mann	19 Dec 1847	Wake
	Mariah Upchurch	Robert Rollins	13 Oct 1849	Wake
	Alferd Upchurch	Adelia M. Crowder	23 Dec 1850	Wake
	Armelia Upchurch	Hinton Hudson	31 Dec 1850	Wake

 $\underline{\textbf{(34)}}$ See Genform output – Biofile of Charles John Peterson, Jr – Entry 18 Nov 1999 – Items

93 Re <u>Stephen Upchurch</u>, son of Jubal – M. Bynum Keith 30 Mar 1999 Cross list: <u>Stephen Upchurch</u> Jubal Upchurch M. Bynum Keith

(35) From letter 12 May 1999 James Roy Taylor to RPU pg 47-51 Robert (Robin) Chamblee

Little River District, Bertie and Wake Counties, NC

Robert was probably born circa 1738. His first land transaction was in 1759 in Bertie Co, NC. Robert most likely married Esther Warren, daughter of Benjamin Warren, Sr., of Bertie Co, NC. There is one single reference to Robert and Hester (Esther) Chamblee together in court records. Esther Chamblee is listed as a member of the Poplar Springs Baptist Church in Franklin Co, NC. In 1744, Bertie Co, NC, Benjamin Warren proved his rights and listed his wife, Esther and others: James, Benjamin, Margaret, Mary Patience, William, and Esther Warren.

References:

Robert's Children: (Order as listed in his will) Millie, Winnie, Elizabeth, Sarah, Benjamin W., James, Rachel, John, Jarred, Ruthy, Mary/Polly, William [he was specified as "youngest son"]

James Chamblee born circa 1770, died in Wake Co, NC circa 25 Mar 1836 Married circa 1796 Chloe Massey, daughter of Richard Massey

Married 8 Feb 1813, Wake Co, NC Nancy Pippin. Recent research is determining if Nancy is the sister of Delilah (Dilly) Strickland who married James Chamblee's brother, John. Children by Chloe Massey:

- 1. Richard Shamley ["Shamley" as he was known in Indiana and Michigan] born circa 1788 married Clarissa Pendergrass [Massey] 19 July 1815, Wake Co, NC; daughter of Benjamin and Elizabeth Massey Pendergrass
- 2. Robert Carter Chamblee born circa 1792 married (1) Mary/Polly Warren 31 Jan 1821, Orange Co, NC; (2) Lucy Taletha Sandlin
- 3. Mary/Polly Chamblee born circa 1795 married Bryant Ferrel 21 Aug 1819, Wake Co, NC; son of James and Elizabeth Ferrell
- 4. Isham Chamblee born circa 1797 married circa 1818 Elizabeth Chaney, daughter of Jeremiah and Phoebe Chamblee Chaney; Elizabeth married 10 Dec 1854, Blount Co, Al (2) John Anderton, Sr.
- 5. Nancy Chamblee born circa 1798 married 11 Jan 1816, Nash Co, NC Reuben Strickland
- 6. Delany Chamblee born circa 1801
- 7. Sally Ann/Elizabeth Chamblee born circa 1806 married James Todd, son of Moses and Elizabeth Massey Todd, Jr.
- 8. Rebecca Chamblee born circa 1807 married <u>Stephen Upchurch</u> 20 July 1828, Franklin Co, NC, son of Jubal and Charlotte Pearce Upchurch; Stephen married 16 Mar 1841, Wake Co, NC (2) Ann Medlin
- 9. Martha Patsy Chamblee born 18 Sep 1808 married John Griffin 22 May 1826 Nash Co, NC, son of Jesse Griffin
- 10. Letha Chamblee born circa 1811 married Daniel Bissett 27 Feb 1830, Wake co, NC, son of Joseph and Aley Perry Bissett

(36) Franklin Co, NC – Will Book I, J – Bradley page 59 381-(90) Account for estate of John Williams deceased by Alford Williams guardian. Wards: Robert Ivy (for his wife Lucy), Thomas Williams, Rebecca Williams, Williams, John R. Williams. 1829-30. Names mentioned:

Step. Upchurch Thos. Y. Wright Benj. B. Smith

William Thompson **Amos Wheeless**

Slave named: Sam Mar Court 1830

<u>(37)</u> Franklin Co, NC – Will Book I, J – Bradley page 52

352(45) William Harrison estate sale [Note: A long series of transactions.]

[Note: The list of transactions/names is about five pages long. The Upchurch names included are listed below.]

- Buyers 5, 6, 7 8 Oct 1829: #1.
 - Alfred Upchurch
 - Stephen Upchurch
- Buyers 2, 3 4 Dec 1829: #2.
 - The Jubal Upchurch Plantation was rented by William Chamblee.
 - Calvin Upchurch hired slaves.
- Buyers 5 Dec 1829 (at Cedar Creek Plantation): #3.

No Upchurches

- Buyers 8 Dec 1829 (at home plantation): #4.
 - Calvin Upchurch

Jones Cook executor

Dec Court 1829

- Notes and judgments due the estate: #5.
 - James Upchurch
 - Calvin Upchurch
- Bad notes and judgments: #6.
 - Jubal Upchurch
 - Britton Upchurch
 - Littlebury Upchurch
- #7. Richard Fox – Constable reported receipts from judgments:
 - La---- Upchurch
 - Berry Upchurch
 - Nancy Upchurch
 - Bentley Upchurch
 - Stephen Upchurch
 - Calvin Upchurch
- #8. Other accounts due:
 - James Upchurch
 - Larkin Upchurch
 - Calvin Upchurch
 - Williford Upchurch, deceased

Dec Court 1829

(38)Franklin Co, NC – Estate Papers 1811-1825 – Volume II Bradley 103-105 (250) (25) John Williams

17 Sep 1820. Thomas Williams (with Cordy W. Ferrell, Thomas Dunn, and Loftis Pippen securities) appointed administrator

5 Oct 1820. Inventory taken by Thomas Williams. Included were 10 negroes.

Dec Court 1820. Petition of Nancy Williams widow of John Williams deceased vs Thomas Williams administrator of said John, Lucy, Polly, Thomas, Rebecca, William, Joseph, John, and Alfred Williams. She stated that her husband died owned 842 acres on Crooked Creek joining William Harrison, Jesse Richard, and others; that Lucy, Polly, Thomas, Rebecca, William, Joseph, John, and Alfred are his children. Petition for dower. 2, 3 Nov 1820 and 1 Jan and 16 Feb 1821. Sale of property by Thomas Williams

administrator. Buyers:

the widow	John Alford (of Jno)	James Baker, Jr.	Amos Bridges
Tho Broom	Simon Carpenter	Edward Cooley	Jacob H. Cooley
Jeremiah Denby	Alsey Denton	John Dunn, Jr.	Nat Dunn
Wm Dunn	Cordy Ferrell	Ozbon Gay	Robt C. Hall
Willis Horton	Wm Horn	Joel Jenkins	Matthew Medling
Kinchen Mullins	J. Page	Nathan Pearce	Bailey Perry
Jeremiah Parry	Josiah D. Perry	Frederick Read	Jesse Richards
Sherrod Sander	William Sanders	Charles Sandiford	Matthew Strickland
C. J. Strother	Jas Thompson	Buckner Upchurch	Jubal Upchurch
Wm Verell	Nat Williams	Thos Williams	Jas Wright
Joseph Young			

Negroes noted: Evans, Jerry, Green, Sam, Phillis and child, mason with 4 children.

1 Jan 1822. Sale of property: Buyers:

John Carpenter Thos Broom John Dunn Kinchen Freeman Richd Reaveis, Jr. H. W. Tharp Littleberry Upchurch Nancy Williams Joseph Young

1 Jan 1824. Hire of negroes:

Jerry Evans Green Mary Phillis and 3 children Samuel

Those who hired:

John Carpenter Wm Carter Nat Dunn Henry Jones

Mumford Pippen N. Williams

Dec Court 1825 – Petition of Amos Wheelus and his wife Mary by his guardian Wm Hammonds, Alfred, Lucy, Rebecca, Thomas, Wm Henderson Williams, and Jno R. Williams, by their guardian Hardy W. Tharpe. They stated that John William died intestate 4 Jul 1820 owning 800 acres joining Wm Harrison, Jesse Richards, James Baker and others. His children were the abovesaid, Mary having married said Wheelus. Petition for division. Commissioners: Henry Baker, Nat Dunn, Everitt Pearce, Nathan Pearce, Jeremiah Tharpe, Henry Williams, Simon Williams.

3 Feb 1826 – Hire of negroes. Those who hired:

Nathan Dunn William Edwards William Jackson Nancy Williams **Basdell Thomas**

1927 – Neroes hired:

Boen Celia Green Jane Jerry Mary **Phillis** Sam Sec..y Shute Simon Surry

Those who hired:

James Baker William Carter Loftin Pipen William Roles
Basdil Thomas Jubal Upchurch Stephen Upchurch Williford

Upchurch

Henry Williams Nancy Williams

1828-1829 – Accounts for/by Lucy S., Thomas, Rebecca, William H., John R. Williams by Alfred Williams guardian.

14 Mar 1831 – Alfred Williams, with Hardy Tharp and Thomas Broom securities, appointed guardian to Thomas, William H., Rebecca, and John R. Williams

1833-34 – Accounts for Thomas A., John H, Rebecca, William H. Williams by Alfred Williams guardian

(39) See Genform output – Biofile of Charles John Peterson, Jr. – Entry 18 Nov 1999, Items 96

96 Re: **Stephen Upchurch**, son of Jubal – Helen 05 Mar 1999

(40) Early extract for 1870

See 1870 census – Wake Co, NC – New Light Township

Henry Ray, age 34, male, white, farmer, \$672 real estate, \$400 personal property

wife = Sarah Ray, age 34, female, white, keeping house

son = William Ray, 11, male, white, farm laborer

son = James Ray, 7, male, white

daughter = Eliza Ray, 4, female, white

In their home: Caroline Upchurch, age 35, female, white, domestic, servant, cannot read or write

Repeat of above – 24 Sep 2012 – Forestville PO – RPU

Henry Ray 1836 34 Sarah Ray 1836 34

William Ray 1859 11

James Ray 1863 7

Eliza Ray 1866 4

Caroline Upchurch 1835 35 domestic servant

Isham Pearce 1854 16

Family not found on 1850 or 1860 census and no public family tree

Note: There is no evidence that then Henry C. Ray born 1836 is related to Henry C. Ray who was a brother to Buckner Ray and born earlier.

See 1880 census – Wake Co, NC – New Light Township

Henry Ray, white, male, 24, farmer, born in NC as was mother and father

Wife = Sarah H. Ray, white, female, 22

Son = James C. Ray, white, male, 16

Daughter = Eliza F. Ray, white, female, 12

In their home: Caroline Upchurch, relationship not stated, white, female, age 45, keeping house, born in NC as was mother and father

Repeat of above – 24 Sep 2012

Henry C. Ray, head 1836 44

Sarah H. Ray, wife 1836 44 James C. Ray, son 1868 12

Caroline Upchurch 1835 45 Keeping house

In 1880, this Henry C. Ray home is next door to that of <u>Stephen Upchurch</u>. It is likely that <u>Stephen Upchurch</u> and Caroline Upchurch are related. Need to explore. This James C. Ray could be the J. Calvin Ray that married Frances Lowery married and who later married WMU son of <u>Stephen Upchurch</u>.

(41) Upchurch and related tax listings – Franklin Co, NC – 1798-1864 – To RPU from Carla Jones 29 Oct 2006

Captain William Stone's District – 1823

Simion Carpenter – 1 WP

John Carpenter – 1611 acres, \$2 per acre \$3222, 6 BP

James Upchurch – 509¾ acres \$1.50 per acre \$764.62, 1 BP

Littlebury Upchurch – 319 acres, \$3 per acre \$957, 1 WP, 3 BP

Willifred Upchurch – 1 WP

Britton Upchurch – 118¾ acres, \$2 per acre \$237.50,, 1 WP

Larkin Upchurch – 166 acres, \$1.50 per acre \$249, 3 WP

Burkly Upchurch – 200 acres, \$2 per acre \$5000, 3 WP, 7 BP

Jubal Upchurch – 2500 acres, \$2 per acre \$5000, 3 WP, 7 BP

Jubal Upchurch for Nancy Upchurch – 500 acres, \$2 per acre \$1,000, 1 BP

Captain William Stone's District – 1824

John Carpenter – 1,211 acres, \$1,816, 7 BP Churchwell Carpenter – 400 acres worth \$600, 1 WP, 1 BP

Littleberry Upchurch – 319 acres worth \$957

Littleberry Upchurch – 444 acres worth \$666, 1 WP, 3 BP

James Upchurch – 509 acres worth \$74, 1

Wiliford Upchurch – 1 WP

Brinkley Upchurch – 20 acres worth \$400, 1 WP

Britton Upchurch – 118 acres worth \$236, 1 WP

Larkin Upchurch – 166 acres worth \$332, 1 WP

Jubial Upchurch – 2,450 acres worth 4,900, 7 BP

Captain Stone's District – 1825

- Churchwell Carpenter 400 acres worth \$1.50 per acure \$600, 1 WP 3 [?RPU] BP
- John Carpenter 1,211 acres worth \$2 per acre \$2,422, 6 BP
- James Upchurch 40 0acres worth \$1.50 per acre \$600, BP
- Williford Upchurch 109¾ acres \$1.50 \$164, 1 WP, 1 BP
- Brinkley Upchurch 200 acres worth \$1.50 \$300, 1 WP
- Berry Upchurch 319 acres \$3 per acre \$957, 1 WP, 5 BP
- Jubal Upchurch 1,976 acres \$1.50 per acre \$2,964, 5 BP
- Britton Upchurch 118¾ acres \$1.50 per acre \$178, 1 WP
- Nancy Upchurch 505 acres \$1.50 per acre \$757, 1 BP
- Larkin Upchurch 166 acres \$1.50 per acre \$249, 1 WP

Captain Stone's District – 1827

- John Carpenter 200 acres \$1.25
- John Carpenter 100 acres worth \$1 per acre total \$350
- Brinkley Upchurch 140 acres worth \$.150 \$210
- James Upchurch 570 acres worth \$1.50 \$855, 1 BP
- Berry Upchurch 325 acres worth \$3 per acre \$945, 1 WP, 4 BP
- Nancy Upchurch 500 acres worth \$1.50 per acre \$750
- Jubal Upchurch 600 acres worth \$1.25 per acre
- Jubal Upchurch 1,200 acres worth \$1 per acre
- Jubal Upchurch 450 acres worth \$1.50 per acre
- Jubal Upchurch 214 acres worth \$1 per acre total \$2,989, 6 BP
- Larkin Upchurch 166 acres worth \$2 per acre \$332, 1 WP

Captain Stone's District – 1826

- John Carpenter 100 acres \$1.25 and 100 acres \$1 per acre or \$350
- Churchwell Carpenter 400 acres \$1 per acre \$400
- James Upchurch 509 acres \$1.25 \$763, 1 BP
- Berry Upchurch 319 acres \$3 per acre \$957, 1 WP, 5 BP
- Jubal Upchurch, 2375 acres \$1.25 \$3,562, 4 BP
- Nancy Upchurch 500 acres \$1.25 per acre \$750, 1 BP

Stephen Upchurch – 1 WP

- Larkin Upchurch 166 acres \$1.25 per acre \$249, 1 BP
- Burkley Upchurch 200 acres \$1.50 \$300

Captain Bridger's District – 1828

- John Perce 450 acres worth \$2.50 per acre
- John Pearce 400 acres worth \$1 per acre John Pearce – 200 acres worth \$1.25 per acre [Is this John Carpenter's land? RPU]
- John Pearce 100 acres worth \$1 per acre totaling \$1,900 [Is this John Carpenter's land? RPU]
- Jubal Upchurch 1,050 acres worth \$1.50 per acre
- Jubal Upchurch 1,414 acres worth \$1 per acre totaling \$2,989, 1 WP, 2 BP
- Calvin Upchurch 1 WP, 2 BP, 1 stud
- Stephen Upchurch 1 WP, 1 BP
- Nancy Upchurch 500 acres worth \$1.50 per acre \$750, 1 BP
- Berkley Upchurch 10 acres worth \$1.50 per acre \$210
- James Upchurch 570 acres worth \$1.50 per acre \$855, 1 BP

1823-1828 Listings

- 1. John Pearce
- 2. John Carpenter
- 3. Simon Carpenter
- 4. Churchwell Carpenter
- 5. James Upchurch
- 6. Jubal Upchurch I
- 7. Britton Upchurch
- 8. Nancy Upchurch
- 9. Burkely Upchurch
- 10. Calvin Upchurch
- 11. Stephen Upchurch
- 12. Brinkley Upchurch
- 13. Larkin Upchurch
- 14. Little Berry Upchurch
- 15. Williford Upchurch

(42) Upchurch and related tax listings – Franklin Co, NC – 1798-1864 – to RPU from Carla Jones, 29 Oct 2006

Captain Alford's District – 1818

John Carpenter – 1,211 acres \$2.50 per acres \$3,027.50, 7 BP

Jubal Carpenter – 400 acres \$2 per acre \$800 1 WP, 1 BP

Phillip Pearce – 292 acres \$2 per acre \$584, 1 BP

Stephen Pearce – 310 acres \$2.50 per acre \$1085, 6 BP

Willie Pearce – 168 acres \$2.50 per acre \$420, 1 WP

Haley Pearce – 1 WP

Eley Pearce – 205 acres \$3 per acre \$615, 1 WP, 1 BP

James Upchurch – 400 acres \$1.50 per acre \$600, 2 WP, 1 BP

Burkley Upchurch – 200 acres \$1.50 per acre \$300, 1 WP

Jubal Upchurch – 2,037 acres \$3 per acre \$,111, 2 WP, 11 BP

Britton Upchurch – 100 acres \$1.50 \$150 Claibon Upchurch – 1 WP

Captain Williams's District – 1819

John Carpenter – 1,211 acres worth \$2.50 per acre \$3,027.50, 8 BP

Jubal Carpenter – 400 acres worth \$2 per acre \$800, 1 WP, 3 BP

Philip Pearce – 292 acres worth \$2 per acre \$584, 1 WP, 1 BP

Haley Pearce – 1 WP

Eley Pearce – 205 acres worth \$3 per acre \$615, 1 WP, 1 BP

Willie Pearce – 168 acres worth \$2.50 per acre \$420, 1 WP

Stephen Pearce – 310 acres worth \$2.50 per acre \$775, 6 BP

James Upchurch – 487 acres worth \$1.25 per acre \$608.75, 1 BP

Clabourn Upchurch – 138 (loose list says 128) acres worth \$2.50 per acre \$345, 1 WP

Jubal Upchurch – 2,025 acres worth \$3 per acre \$6,075, 2 WP, 14 BP

Burkly Upchurch – 200 acres worth \$1.50 per acre \$300

Captain Bridge's District – 1820-1829

- Jubal Upchurch 600 acres worth \$1.50 per acre
- Jubal Upchurch 1200 acres worth \$1.00 per acre, 1 WP, 2 BP
- Jubal Upchurch 450 acres worth \$1.50 per acre
- Jubal Upchurch 214 acres worth \$1.00 Calvin Upchurch – 1 WP, 2 BP, 1 stud and jack

Stephen Upchurch – 1 WP, 1 BP

- Nancy Upchurch 500 acres worth \$1.50 per acre \$750, 1 BP
- Burkley Upchurch 140 acres worth \$1.50 per acre \$210
- Britton Pearce 383 acres worth \$2 per acre \$768, 1 WP, 1 BP
- Nathan Pearce 282 acres worth \$2 per acre
- Nathan Pearce 400 acres worth \$2 per acre
- Nathan Pearce 400 acres worth \$2.50 per acre \$1,764, 2 BP
- Burrel Pearce 1 WP
- James Upchurch 570 acres worth \$1.50 per acre \$855, 1 BP
- Stephen Pearce 400 acres worth \$1.50 per acre \$660, 2 BP
- Wilie Pearce 1 WP
- Haley Pearce 200 acres worth \$2 per acre \$400, 1 WP, 1 BP

Captain Williams's District – 1820

- John Carpenter 1,611 acres \$3,827.50, 10 BP
- Eley Pearce 205 acres \$615, 1 WP, 1 BP Hardy Pearce – 1 WP
- Stephen Pearce 310 acres \$465, 6 BP
- Wiley Pearce 18 acres \$252, 1 WP, 1 BP Britton Unchurch – 100 acres worth \$200
- Britton Upchurch 100 acres worth \$200, 1 WP
- Brinkley Upchurch 210 acres \$436, 1 WP Jubal Upchurch 2,165 acres \$6520, 1
 - WP, 10 BP
- Jubal Upchurch for Nancy Upchurch 500 acres \$1,250, 1 BP
- James Upchurch 487 acres \$608.50, 1 WP, 2 BP
- Larken Upchurch 40 acres \$80
- Littleberry Upchurch 319 acres \$957, 1 WP, 3 BP

Captain Dunn's District – 1821

John Carpenter – 1,611 acres worth \$2.50 per acre \$4,027.50, 12 BP

Phillip Pearce – 300 acres worth \$1.50 per acre \$450

Haley Pearce – 1 WP

Wiley Pearce – 1 WP

James Upchurch – 487 acres worth \$1.50 per acre \$730.50, 1 BP

Britton Upchurch – 100 acres worth \$1 per acre \$100, 1 WP

Littleberry Upchurch – 319 acres worth \$3.50 per acre \$1,106.50, 1 WP, 3 BP

Brinkley Upchurch – 218 acres worth \$1.50 per acre \$327

Claiborn Upchurch – 1 WP

Williford Upchurch – 1 WP

Captain William Stone's District – 1822

John Carpenter – 1,611 acres worth \$250 per acre \$4,428, 1 WP, 5 BP

Phillip Pearce – 30 acres worth \$2 per acre \$600, 1 WP

Wiley Pearce - 1 WP

Haley Pearce – 1 WP

James Upchurch – 509 acres worth \$1.50 per acre \$763.40

Burkley Upchurch -2 18 acres worth \$2.50 per acre \$545, 1 WP

Littleberry Upchurch – 762 acres worth \$.250 per acre \$1,905, 2 WP, 3 BP

Jubal Upchurch – 3,500 acres worth \$2 per acre \$7,000, 4 BP

Britton Upchurch – 100 acres worth \$2 per acre \$200, 1 WP

Williford Upchurch – 1 WP, 1 BP

Larkin Upchurch – 166 acres worth \$2 per acre \$332, 1 WP

1818-1822 Listings

- 13. Jubal Upchurch, I
- 2. Stephen Pearce 14. Brittain Upchurch
 - 15. Nancy Upchurch
 - 16. Burkely Upchurch
 - 17. Claburn Upchurch, I
 - 18 Calvin Upchurch
 - 19. Stephen Upchurch
 - 20. Brinkley Upchurch
 - 21. Larkin Upchurch
 - 22. Little Berry Upchurch
 - 23. Williford Upchurch

- 1. Phillip Pearce
- 3. Eli Pearce
- 4. Willie Pearce
- 5. Haley Pearce
- 6. Nathan Pearce
- 8. Burrell Pearce
- 9. Hardy Pearce
- 10. John Carpenter
- 11. Jubal Carpenter
- 12. James Upchurch

(42) Upchurch and related tax listings – Franklin Co, NC 1798-1864 – to RPU from Carla Jones 29 Oct 2006

1833-1834 Listings

- 1. John Pearce
- 2. Whitman Pearce
- 3. Phillip Pearce
- 4. Britton Pearce
- 5. Calvin Pearce
- 6. Patsy Pearce
- 7. Burrell Pearce
- 8. Thomas Pearce
- 9. Philemon Pearce
- 10. Martha Pearce
- 11 Reuben Carpenter
- 12. John Privette
- 13. Matthew Privette
- 14. James Upchurch
- 15. Nancy Upchurch
- 16. Burkely Upchurch
- 17. Calvin Upchurch
- 18. **Stephen Upchurch**
- 19. Larkin Upchurch
- 20. Little Berry Upchurch
- 21. Jamison Upchurch
- 22. Jubal Upchurch, I
- 23 Riley Bolton

Captain R. Taylor's District – 1833

- John Privet 88 acres worth \$1.25 per acre \$110, 1 BP \$1.22 (so born about 1788)
- John Pearce 1130 acres worth \$1.50 per acre \$1695, 1 BP, pd. \$5.18
- John Pearce for Nancy Pearce 450 acres worth \$1.50 per acre \$675, 2 or 3 BP, pd. \$3.57
- Jamison Upchurch − 1 WP, pd. \$.84
- Stephen Upchurch 300 acres worth \$2 per acre \$600, 1 WP, pd. \$2.37 (loose list says 310 acres worth \$2 per acre \$620)
- Kearny Upchurch 1 WP, pd. \$.84
- James Upchurch 678 acres worth \$1.50 per acre \$1,017, 2 BP, pd. \$4.42
- Berkley Upchurch 140 acres worth \$1.50 per acre \$10, pd. \$.52
- Larkin Upchurch 145 acres worth \$1.50 per acre \$217, 1 WP, pd. \$1.38
- Berry Upchurch 297 acres worth \$1.50 per acre \$445, 1 WP, 1 BP, pd. \$2.90
- Britton Pearce 200 acres worth \$2 per acre \$400, 1 WP
- Whitman Pearce 120 acres worth \$2 per acre \$240, 1 WP
- Calvin Pearce 640 acres worth \$1 per acre \$640
- Riley Bolton 1 WP
- Phillip Pearce 200 acres \$2 per acre \$400
- Patsey Pearce 200 acres worth \$2 per acre \$400
- Burrell Pearce 1 WP
- Reuben Carpenter 569 acres worth \$2 per acre \$1,138, 3 BP

Captain Dunn's District – 1839

- John Pearce for Nancy Upchurch 450 acres worth \$1.50 per acre \$675, pd. \$1.69
- James Upchurch 678 acres worth \$1.50 per acre \$1,017, 2 BP, pd. \$4.22
- Buckley Upchurch 140 acres worth \$1.50 \$210, pd. 53 cents
- Larkin Upchurch 145 acres worth \$1.50 \$218 1 P, pd. \$1.38
- <u>Stephen Upchurch</u> 1 WP, pd. 84 cents Berry Upchurch – 1 WP, 1 BP, pd. \$1.68
- Calvin Upchurch 552 acres worth \$3 per acre \$16.56, 1 WP, 4 BP, \$8.34
- Jubal Upchurch 3 BP, pd. \$2.52
- Mathew Privit 481 acres worth \$1 per acre \$4.81, pd. \$1.20
- John Pearce 1,080 acres worth \$1.50 per acre \$1,620, 1 BP, pd. \$4.89
- Thomas Pearce 166 acres worth \$75 per acre \$1,246, pd. \$.31
- John Privet 88 acres worth \$1.25 per acre \$110, 1 BP, pd. \$1.11 (next on list to Mat Privet)

Captain Calvin Upchurch's District – 1834

- Philemon Pearce 200 acres worth \$2 per acre \$400
- John Pearce 1080 acres worth \$1.50 per acre \$1,620, 1 BP
- John Pearce for Nancy Upchurch 450 acres worth \$1.50 per acre \$675
- Thomas Pearce 166 acres worth \$.75 per acre \$124.50
- Matthew Privett 481 acres worth \$1.00 per acre \$481
- Martha Pearce 200 acres worth \$2 per acre \$400
- Brittain Pearce 200 acres worth \$2 per acre \$400, 1 WP, 1 BP
- Burrel Pearce 1 WP
- Thomas Pearce 1 WP
- Whitman Pearce 120 acres worth \$2 per acre \$240, 1 WP
- James Upchurch, 678 acres worth \$1.50 per acre \$1,017, 2 BP
- Burkley Upchurch 140 acres worth \$1.50 per acre \$210
- Larkin Upchurch 145 acres worth \$1.50 per acre \$217.50, 1 WP

Stephen Upchurch – 1 WP

Berry Upchurch – 1 WP, 1 BP

Calvin Upchurch – 552 acres worth \$3 per acre \$1,656, 1 WP, 4 BP

Jubal Upchurch – 3 BP

(44) Upchurch and related tax listings – Franklin Co, NC 1798-1864 – to RPU from Carla Jones 29 Oct 2006

Captain Dunn's District – 1829

- Whitman Pearce 120 acres worth \$2 per acre \$240, 1 WP
- John Pearce 900 acres worth \$1.50 per acre \$1350, 2 BP
- John Pearce for John Carpenter 200 acres worth \$1.25
- John Pearce for John Carpenter 100 acres worth \$1 per acre \$350
- Nancy Upchurch 450 acres worth \$150 \$675, 2 BP (analysis would seemingly indicate that she sold 50 acres to John Pearce since the previous year)
- James Upchurch 570 acres worth \$1.50 per acre \$855, 1 WP, 2 BP
- Burkely Upchurch 140 acres worth \$1.50 per acre \$210
- Littleberry Upchurch 319 acres worth \$3 per acre \$957, 1 WP, 2 BP, 1 stud horse at \$4
- Littleberry Upchurch 50 acres worth \$2 per acre totaling \$100, 1 WP, 2 BP
- Calvin Upchurch 250 acres worth \$1.50 per acre \$312.50, 1 WP
- Larkin Upchurch 146 acres worth \$1.50 per acre \$219, 1 WP

Stephen Upchurch – 1 WP, 1 BP

- Phillip Pearce 200 acres worth \$2 per acre \$400
- Haley Pearce 200 acres worth \$2 per acre \$400, 1 WP
- Stephen Pearce 400 acres worth \$1.50 per acre \$660, 1 BP
- Britton Pearce 343 acres worth \$2 per acre \$686, 1 WP
- Willie Pearce 1 WP
- Reuben Carpenter 168 acres worth \$2 per acre \$316

Captain Dunn's District – 1830

- John Pearce 900 acres worth \$1.50 per acre \$1,350, 1 BP
- John Pearce for John Carpenter 200 acres worth \$1.25 per acre
- John Pearce for John Carpenter 100 acres worth \$1 per acre \$350
- James Upchurch 570 acres worth \$1.50 per acre \$855, 2 BP
- Kerney Upchurch − 1 WP
- Nancy Upchurch 450 acres worth \$1.50 per acre \$675
- Larkin Upchurch 145 acres worth \$1.50 per acre \$207.50, 1 WP
- Calvin Upchurch 293½ acres worth \$1.25 per acre \$3.66.88, 1 WP, 3 BP

Stephen Upchurch – 1 WP

- Burkley Upchurch 140 acres worth \$1.50 per acre \$210
- Littleberry Upchurch 389 acres worth \$3 per acre \$1107, 1 WP, 1 BP, 1 stud worth \$4
- Bailey Wiggs for S. Strickland 100 acres worth \$1 per acre \$100
- Note: William Harrison may have died, Harrison Estate by Executor 7005 acres worth \$17,084 in Captain Alford's District, no listing in Dunn's District

Captain Dunn's District – 1831

John Pearce, Sr. – 900 acres worth \$1.50 \$1,350, 1 WP, 1 BP

James Upchurch – 688¾ acres worth \$1.50 per acre \$1,033, 1 WP, 2 BP

Kearney Upchurch – 1 WP

Burkely Upchurch – 140 acres worth \$1.50 per acre \$210, 1 BP

Calvin Upchurch – 393½ acres worth \$1.25 per acre \$493, 2 WP, 2 BP

Larkin Upchurch -1 45 acres worth \$1.50 per acre \$212, 1 WP, 1 BP

Nancy Upchurch – 450 acres worth \$1.50 per acre \$675

Stephen Upchurch – 1 WP

Littleberry Upchurch – 1 WP

Captain Dunn's District – 1832

John Pearce – 900 acres worth \$1.50 per acre \$1,350, 1 WP, pd. \$4.38

John Pearce for Nancy Upchurch – 450 acres worth \$1.50 per acre \$675, 2 BP, pd. \$3.49

Kearney Upchurch – 1 WP, pd. \$.87 James Upchurch – 688 acres worth \$1.50 per acre \$1,032, 1 WP, 2 BP, pd. \$5.29

Jamison Upchurch – 1 WP, pd. \$.87

Calvin Upchurch – 432 acres worth \$3 per acre

Calvin Upchurch – 393 acres worth \$1.35 per acre

Calvin Upchurch – 100 acres worth \$.50 totaling 2237, 1 WP, 3 BP, pd. \$9.30

Berry Upchurch – 1 WP, pd. \$.87

Larken Upchurch – 145 acres worth \$1.50 per acre \$217, 1 WP, 1 BP, pd. \$2.31

Burkely Upchurch – 140 acres worth \$1.50 per acre \$210, pd. \$55

Jubal Upchurch – 2 BP, pd. \$1.74

Stephen Upchurch – 464 acres worth \$2 per acre \$928, 1 WP, pd. \$3.28 Mason Massey – 1 WP, \$.87

1829-1832 Listings

- 1. John Pearce
- 2 Whitman Pearce
- 3. Phillip Pearce
- 4. Haley Pearce
- 5. Stephen Pearce
- 6. Britton Pearce
- 7. Willie Pearce
- 8. John Carpenter
- 9. Reuben Carpenter
- 10. James Upchurch
- 11. Nancy Upchurch

- 12. Burkely Upchurch
- 13. Calvin Upchurch
- 14. Stephen Upchurch
- 15. Larkin Upchurch
- 16 Little Berry Upchurch
- 17. Jamison Upchurch
- 18. Kearney Upchurch
- 19. Bailey Wiges [? HB 22 Nov 2017]
- 20. S. Stricklin
- 21. William Harrison
- 22. Mason Massey

(45) Upchurch and related tax listings – Franklin Co, NC 1798-1864 – to RPU from Carla Jones 29 Oct 2006

No date or district listed

Averit Pierce – 100 acres, 1 WP Eaton Upchurch – 250 acres, 1 WP

Captain Ferrell's District – 1804

Eaton Upchurch – 250 acres, 1 WP

Captain Ferrell's District – 1805

Eaton Upchurch – 1 WP

Captain Ferrell's District – 1806

Eaton Upchurch – 50 acres, 1 WP

Captain Ferrell's District – 1807

Eaton Upchurch – 100 acres, 1 WP

Captain Ferrell's District – 1809

Eaton Upchurch – 50 acres, 1 WP

Captain Ferrell's District – 1810

John Upchurch – 1 WP Simeo [sic] Carpenter – 2 WP

Captain Ferrell's District – 1811

John Upchurch – 1 WP Eaton Upchurch – 50 acres, 1 WP Simion Carpenter – 343¾ acres, 1 WP

Captain Ferrell's District – 1812

Peyton Upchurch – 1 WP Eaton Upchurch – 50 acres, 2 WP Simeon Carpenter – 343¾ acres, 1 WP

Captain Gay's District – 1814

Keeton Upchurch – 1 WP Eaton Upchurch – 50 acres, 1 WP Simeon Carpenter – 493 acres, 2 WP, 1 BP

Captain Gay's District – 1815

Nathan Pearce – 236 acres \$3 per acre \$708, 1 WP

Averett Pearce – 334 acres \$2.50 per acre \$385 1 WP, 1 BP

Simon Carpenter – 493¾ acres \$3 per acre \$1,481.25 1 WP, 1 BP

Keaton Upchurch – 1 WP

Eaton Upchurch – 50 acres \$3 per acre \$150, 1 WP

Captain Gay's District – 1816

Simion Carpenter – 493¾ acres \$1,481.22½, 1 WP, 1 BP Nathan Pearce – 296 acres \$888, 1 WP Averet Pearce – 473 acres \$1300.75, 1 WP, 1 BP Eaton Upchurch – 50 acres \$125, 1 WP

Tax Records – no date – 1785-1898, broken series, C.R.039.703.1 – 1816 Insolvent Taxables – 1790-1836 – 1816 Eaton Upchurch – 1 WP

Captain Sanders District – 1817

Simeon Carpenter – 689 acres \$3 per acre \$2067, 1 WP, 3 BP

Everit Pearce – 523 acres \$3.75 per acre \$1,961.25, 1 WP, 1 BP

Nathan Pearce – 296 acres \$3 per acre \$888, 1 WP

Captain Sanders District – 1818

Simon Carpenter – 679¾ acres \$3 per acre \$2,039.75, 2 WP, 3 BP, 1 stud horse or jack

Nathan Pearce – 300 acres \$2.50 per acre \$750, 1 WP, 1 BP

Gray Pearce – 523 acres \$2.75 per acre \$1,438.25, 1 WP

Captain Sanders District – 1819

Simeon Carpenter – 626 acres worth \$3 per acre \$1,878, 1 WP, 4 BP Nathan Pearce – 300 acres worth \$3 per acre \$900, 1 WP, 1 BP Avarite Pearce – 523 acres worth \$2.50 per acre \$1,307.50, 1 WP, 1 BP

Captain Baker's District - 1834

Jamison Upchurch – 1 WP, pd. 84 cents Everette Pearce – 146 acres worth \$3 per acre \$438 Nathan Pearce – 960 acres worth \$3 per acre \$1,920

Captain Broom's District – 1835

Everet Pearce – 146 acres worth \$3 per acre

Captain Jeffrey's district – 1836 <u>Stephen Upchurch</u> – 1 WP

Nathan Pearce – 586 acres worth \$2 per acre

Everet Pearce – 146 acres worth \$3 per

acre, 1 BP

RPU comments re 1804-1836 tax lists shown above

Everett Pearce (aka Averett)

Eaton Upchurch

John Upchurch

Simeon Carpenter

Peyton Upchurch

Eaton Upchurch

Nathan Pearce

Gray Pearce

Gray Fearce

Jamison Upchurch

Stephen Upchurch

(46) Item in letter 14 Mar 1984 Eleanor Grace Williamson to RPU [in search for information 1803 Upchurch to Carpenter name change]

Franklin Co, NC Tax Records

Grace extracted some but not all Upchurch listings for the 1798-1836 era for Franklin Co, NC. Below is a list by years for the various districts (by district captains).

O = The main Upchurch Enclave => Some = Benjamin, Jubal, Richard, III, Abel, Sr, Buckner, Britton, James Upchurch, V (+ John Carpenter)

	1 / Dani > SAME = 1
Capitani, ()= 1	The main lyelwell Enclane -> SOME =)
10019	James & RECHARD, III, ABEZ, SR
198 Capt U [moser u	BUCK NEW , BUCK , BRITTON
1799 DAVIS (Warwood	of tick) Welly JAMES 4, I
10 011	of Ferrell (+ JOHN CARPENTER)
1805 (Stuchland),	ISATON U
	STON U. I
1866 Stuckland,	Ferrell Taylor 1819 DEWSONS
1807 Stuchland,	550× 4 0151
1808 (Stuchland),	Taylor
1809 (Strubland),	Hammond Le BUCKNER W
1810 (Hunn)	Hammand, Ferrell & JOHNIN
1811 Stewarts,	Havin Fenell ENTON !
1812 Dann, 1	Villiamsay home Tours
1813 (Duns)	Suan , Buchnes (Cealour) (Jolin) K PEYTONA
1828 ?; 1829 ?	(KEATON?)
11:	Albert u, Elyabeth 4
	ware /
1834 (Calmin 4);	Strene & Balus & Jameson 4
1835 (Dunn),	Partet stephen 4?
1836 Upeland 1	Galloway , Jeppreys
1819 MA75 E	Amberare U
1798 Captain Upchurch [M	Moses Upchurch?] Webb James Upchurch
1799 Davis (Norwood Lis	-
1804 Dunn	Taylor, Ferrell Sion Upchurch
1805 Strickland	Ferrell Eaton Upchurch
1806 Strickland	Ferrell Sion Upchurch and Buckner Upchurch
1807 Strickland	Ferrell, Taylor Sion Upchurch 1819 Denson's
	District
1808 Strickland	Taylor
1809 Strickland	Hammond Buckner Upchurch
1810 Dunn	Hammond, Ferrell John Upchurch
1811 Stewarts	Harris, Ferrell Eaton Upchurch
1812 Dunn	Williamson, Boon, Thomas, Ferrell Peyton Upchurch
1012 Daim	(Keaton?)
1828?; 1829?	(Sion, Bukner) (Claburn) (John)
1833 Taylor	Stone Willie Upchurch, Alfred Upchurch, Albert
- y -	Upchurch, Elizabeth Upchurch
1834 Calvin Upchurch	Stone, Balus [? HB 21 Nov 2017] Jameson Upchurch
1835 Dunn	Poter
1836 Upchurch	Galloway Jeffreys <u>Stephen Upchurch</u> ?
1819 Mays	Ambrose Upchurch
101) Mays	Amorose openater

(47) See letter 17 Dec 1999 Charles John Peterson, Jr. to RPU

On 2 Mar 1999 D. Stoddard posted on the internet page 10 [per an old genealogy written 1899]

In	I.	Jubal	Upchurch – Head of Clan
RPU		A.	Stephen Upchurch married 20 Jul 1828 (Franklin Co, NC)
Files Rebecca Ann C			Rebecca Ann Chamblee [Stephen md 2nd 16 Mar 1841 (Wake Co, NC)
			Ann Medlin]
			Children of the first marriage (all presumed born prior to 1841)
New to	О	1.	Benjamin Upchurch married and lived Cumberland Co, NC
RPU			[on 1830 census as 0-5] [assume born about 1829]
files as	S	2.	Jack Upchurch – went to MS
issue o	of	3.	Calvin Upchurch – went away
this		4.	Lucinda Upchurch – went away (born about 1837]
couple. 5. Lottie Upchurch [Charlotte		5.	Lottie Upchurch [Charlotte Upchurch] [born about 1837] married () Jack
			Phillips – went away

Note: As of 17 Aug 2002 I find no reason to object to the above five children being of the first marriage of **Stephen Upchurch**. He had time to produce five prior to his second marriage Mar 1841. He is on 1830 census Franklin Co, NC, head of a seven member household, only one of which is less than five years old (a male) and thus possibly his son (tentatively Benjamin Upchurch). I cannot find **Stephen Upchurch** on the 1840 census in Wake or Franklin Cos, NC or otherwise; hence his first marriage could have been dissolved by 1840 and his children "distributed". In fact in 1850 child #5 Charlotte Upchurch is in a home headed by her grandmother Charlotte Upchurch [nee Pearce]. In 1860 Child #4 Lucinda Upchurch is age 23 (born about 1837) and in home of her father **Stephen Upchurch** and his second wife. [DS reports Lucinda age 25 on 1850 with father which is correct.] RPU

(48) Records for William Upchurch born 1869 (NC), son of Geneva Upchurch – RPU 24 Sep 2012

1870 Census – NC, Wake Co, Barton's Creek Township, PO Forestville **Stephen Upchurch**, Head, 1815, 55
Geneva Upchurch, daughter, 1845, 25
Bryant Upchurch, son, 1853, 17
Rebeca Upchurch, daughter, 1860, 10
William Upchurch, ES, 1869, 1

1880 Census – NC, Wake Co, New Light Township Steaven Upchurch, head, 1810, 70 Geniva Upchurch, daughter, 1850, 30 William Upchurch, son (ES), 1868, 12 John H. Upchurch, son (ES), 1879, 1

Denton/Richardson Family Tree

Owner: tdenton2

Francis "Fannie" Lowery

Birth 1868 in Wake Co, NC, USA Death 1895-1900 in Wake Co, NC

Parents:

Addison Henry Lowery, 1825-1901 T---a Aryann Allen, 1825-1900

Death 1895 Wake Co, NC, Age 27

Must have died shortly after or during the birth of Ollie. Not on the 1900 census. William and Ollie were with sister in law Oscee McCreath in 1900.

Marriage 11 Feb 1885 age 17 to J. Clavin Ray, Barton Creek Co [Twp? 22 Nov 2017 HB], Wake, NC, USA from familysearch.org

Marriage [illegible] 1894 age 28 to William Upchurch, Barton Creek Co [Twp? 22 Nov 2017 HB], Wake, NC, USA from familysearch.org

Spouse and Children – J. Clavin Ray, 1862-

Spouse and Children – William Upchurch, 1870-1908; William Oliver Upchurch, 1895-1963

- I. Jubal Upchurch, I Head of Clan
 - A. **Stephen Upchurch**, born 1815
 - 1. Geneva Ann Upchurch, born about 1844 [possibly 2 marriages]. Records not clear. She had two Upchurch sons.]
 - a. William Upchurch, born about 1868 (Wake Co, NC), died 1908

Married (1st) 8 Mar 1894 (Barton's Creek Township, Wake Co, NC)

Frances Lowery Upchurch "Fannie" born 1868 (Wake Co, NC)

Died 1897± 3 years – daughter of Addison Henry Lowery [Frances married (1st) 11 Feb 1885 (Barton's Creek Township, Wake Co NC)

J. Calvin Ray* when she was 17. No known issue of this Ray marriage. RPU]

Married (2nd) 8 Apr 1909 (Barton's Creek Township, Wake Co, NC)

Elma E. David, daughter of Samuel H. Davis, of Falls, Wake Co, NC

i. William Oliver "Ollie" Upchurch, Sr, 1895-1963

[See additional exract re WOO, Sr.]

Note: Frances Lowery (Ray) Upchurch died before the 1900 census leaving her second husband William Upchurch and a young son WOU, Sr. In 1900 we find father and son in the home of a sister of Frances, Celia Osee "Cedy" Lowery who had married Henry McCreath. In 1910 we find the son only "Ollie" in the home of another sister of Frances "Fetner" whose Jones husband is absent. [? 22 Nov 2017] "Fetner" = nee Phoeta Jane Lowery. [See added extract for her.]

1900 census – NC, Wake Co, New Light Township Henry Mcreath, head, 1868, 32, NC Cedy Mcreath, wife, 1867, 33, NC Lillian, Mcreath, daughter, 1896, 4, NC Willie Upchurch, *, May 1870, 30, NC Oliver Upchurch, *, Apr 1895, 5, NC * = Boarders

1910 census – NC, Wake Co, Barton's Creek Township Fetner Jones WD [widowed? 22 Nov 2017], head (female), 1860, 50 Lizzie Jones, daughter, 1896, 14 Ollie Upchurch, nephew, 1895, 15

*See added extract.

(49) Franklin Co, NC – Will Book K – Bradley pages 78, 79

341-(201) Inventory and sale of the property of Thomas Y. Wright deceased sold 2 Jan 1839 by Simon Williams administrator. The widow was among the buyers: Buyers:

Dempsey?	Jacob Alford	Kinchen Alford	William Amos
William Arendell	Benjamin Baker	James Baker	B. T. Ballard
George B. Bell	George R. Bell	John Bell	A. J. Bryant
Berry Bunn	William Carter	Bashard Chamley	William S. Cheeves
Jacob H. Cooly	A. H. Davis	Ann Dunn	B. Dunn
Benjamin Dunn	Nat Dunn	A. Evans	E. Evans
Henry Glover	A. Griffin	John Griffin	Ben Higgs
Saml Jones	Yancy Jones	Zany Jones	A. Lancaster
A. A. Lancaster	Perry Loyd	William Moore	Laton Odum
William Pace	Smith Patterson	A. Pearce	John Pearce
Thomas Pearce	Ephraim Perry	Munford Pipins	Fed Read
John Richards	William Richards	James Silivant	William Spivy
Bryant Stallings	Jas Strother	J. Tant	Jaincy Tant
William Tant	Burkly Upchurch	John White	John Wiggs
Joseph Wilder	William Silder	Lunseford Williams	Harry Williams
Henry Williams	Simon Williams	W. B. Williams	Mary Right
Fenny Young			, -

Noted was a settlement with Darling B. Sandes who was Wright's ward.

Hired out were negro man Ned, girl Charity.

There were notes on:

Axum Alford	Henry Anderson	William Carter	Edwin Denton
R. Higgs	Alfred A. Lancaster	J. J. Lancaster	Samuel H. Lancaster
C. Perry	Henry Renderdue	Rubin Stallings	Christopher Srother
Jas Strother	Stephen Upchurch	Eliza Williams	John Williams
Indan C Williams			

Jordan S. Williams March Court 1839

(50) Extract of marriage record for Bryant Upchurch and Sarah Florence Kirks (See his Biofile for copy.)

Marriage performed 10 Oct 1877 in New Light Township, Wake Co, NC (at Starnes Up Chapel ??) by H. C. Ray, JP.

Bryant Upchurch23, son of **Stephen Upchurch** (living) and Annie Upchurch (nee Ann Medlin) (deceased)

Sarah Florence Kirks, 22, daughter of Edwin Kirks (deceased) and Jane Kirks (living) All parties of Wake Co, NC.

Note "s" on Kirks.

1 of 3 witnesses = W. H. Ray

(51) Extract of record of marriage of Rebecca Jane Upchurch and William H. Ray, original in her Biofile.

Marriage performed 15 Feb 1885 in Barton's Creek Township, Wake Co, NC by John D. Allen, JP.

William H. Ray, 27, son of H. C. Ray and Harriett Ray, both living.

Rebecca Upchurch, 25, daughter of **Stephen Upchurch**, deceased, and Anna Upchurch [Ann Medlin], deceased.

All parties of Wake Co, NC.

3 witnesses, names not readable.

(52) Franklin Co NC – Will Book I, J – Bradley pages 46, 47

308-(21) Joshua Perry, deceased, estate sale. 6 Oct 1828. Buyers:

Guston Perry Edwin Perry Calvin Perry William Oneal Green Ross Alfred A. Lancaster William Jackson Jacob Alford

William Eley (?)

Sale held 13 Jan 1829. Buyers:

Montford Pippen **Stephen Upchurch Edwin Perry** Calvin Perry Burrell Perry Alexander Tucker Reading Perry **Guston Perry** Alford Perry Robert Moore Benjamin Jones (?) William Jackson Thomas Lanier **Rubin Stallings** Kinchen Alford Richard Moore

Callum Moore David L. ...?
Signed by Guston Perry, Calvin Perry.

March Court 1829

```
THE N.C. FAMILY OF STEPNEN 4 HEAD OF THE JUBALU, I) STEPNEN 4
50BCLAN - RPU ZYJULZOR
```

Census Extraded by RD4 - Franklin Lo, NC - SLAVES IF 0-10 FREE COLORED - ZM 10-24 18 30 Stephen Ur Male - L5yn - 1-1825-1830 [BEN JAMEN W) HABT 1829 NOT CATLUREN (5-10 11 -1-1820-1825

10-15 11-1-1815-1820 OF STEPHEN & REBELLA AS 15-20 11-1 1810-1815 THE! MD IN 20-30 11-1=1800-1810 1828

20-3011-1-1800-1810[STEPHEN RELATIVES OF S OR R ?? Femaler 20-30 4-1-1800-1810 (REBECCA ANN CHAMBLEE) 6 ABT 1803 - RPU

1840 (ENSUS - STEPHEN U NOT FOUND

1850 GENSUS -NG FRANKLEN CO. WAKE CO. - NE DUNN TWP

Stephen Upchurch 1805 45 Ann Upchurch 1827 23 Geneva Upchurch 18446 Joseph Upchurch 18464

HEAD I. JUBALL, I-OFCLAM

A. STEPHEN 4 68811809

d ADT 1885

1860 CENSUS- NC

DIN; PO MILBURNIG

Stephen Upchurch 1806 54 1823 37 Ann Upchurch 1845 15 Ann Upchurch Joseph Upchurch 1849 11

185 9 Sallie Upchurch 1853 7 Bryant Upchurch

1859 1 Rebecca Upchurch 1837 23 Lucinda Upchurch

1870 CENSUS- NC- WAKE (O BARTONS CREEK TWP POZ FORESTVILLE

> Stephen Upchurch 1815 55 Geneva Upchurch 1845 25 Beyant Upchurch Rebeca Upchurch 1860 10 William Upchurch 1869 1

REBELLA & ABT 1860 NOT FOUNT ON 1880 CENSUS SHE MD 15 FEB. 1885

MO(IST) REBECCA MANN CHAMBLEE PABT 1803 d 1839 (BAR TONO CAKTWP, WC, NC) MIT (NI) 1841 (WG,NC) ANN MEDLEN 3 + 2 WILLIAM N. RAY

> WHERE ARE

> > THEY

IW

1. BENJAMIN 4 hABT 1829 JOHN 4 "JACK" h 1832 = 3 4

CALVENU 6 1832 tz [VS NATHAN E. 43] BA 1840?

LULTNOM W b ABT 1835 Ü

S. U CHARLOTTE " LOTTIE" & ABT 1831 - IN 1840

62) GENEVA ANN "ANNIE" BAST 1844 a. JOHN CALVIN U, I b & MAY/877 13 L

(AKA JOHN HEN'RY CALVEN D FATITUR NOT LEARNED

7. 2 JODEPH HENRY 4, P & ABI 1846/1849 82 SARAH JANEU "SALLTE" & 4 NOV 1853

BRYANT US 6 ABT 1853

REBELLA u b 1859/1860

WILLTAM U 1868/1869 1880 · CENSUS-NE

WAKE CO. - NEW LIGHT PW? SI WIDOUER

Steaven Upchurch AP 1810 70 Geniva Upchurch 7 AM 1850 30 William Upchurch 5674 | 868 12

John H. Upchurch 200 1879 1

HEBECCA 4 6 1860 NOT FOUND DN 1880 CENSUS SHE MD 1885

Stephen Upchurch

North Carolina Marriages, 1759-1979

marriage: 16 Mar 1841

Wake,North Carolina

spouse: Ann Medlin

U

Stephen Upchurch

North Carolina Marriages, marriage: 20 Jul 1759-1979

Franklin,North Carolina

spouse: Rebecca Chamley